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help (bool)

Help on class bool in module builtins:

class bool (int)
bool (x) —> bool

Returns True when the argument x is true, False otherwise
The builtins True and False are the only two instances of the class bool.
The class bool is a subclass of the class int, and cannot be subclassed

Method resolution order:
bool
int
object

Methods defined here:

__and__(self, value, /)
Return self&value

__or__(self, value, /)
Return self|value

__rand__(self, value, /)
Return value&self.

__repr__(self, /)
Return repr (self).

__ror__(self, value, /)
Return value|self

__rxor__(self, value, /)
Return value self

__str__(self, /)
Return str (self).

__xor__(self, value, /)
Return self value

Static methods defined here:

__new__(xargs, *xkwargs) from builtins. type .
Create and return a new object. See help(type) for accurate signature.

Methods inherited from int:

__abs__(self, /)
abs (self)

__add__(self, value, /)
Return self+value

__bool__(self, /)
self 1= 0

_ceil__(..)
Ceiling of an Integral returns itself

__divmod__(self, value, /)
Return divmod (self, value).

__eq__(self, value, /)
Return self==value.

__float__(self, /)




float (self)

__floor__(...)
Flooring an Integral returns itself.

_ floordiv__(self, value, /)
Return self//value.

__format__(self, format_spec, /)
Default object formatter.

__ge__(self, value, /)
Return self>=value.

__getattribute__(self, name, /)
Return getattr (self, name)

__getnewargs__(self, /)

__gt__(self, value, /)
Return self>value

__hash__(self, /)
Return hash(self).

__index__(self, /)
Return self converted to an integer,

__int__(self, /)
int(self)

__invert__(self, /)
“self

__le__(self, value, /)
Return self<=value.

__Ishift__(self, value, /)
Return self<<value.

__1t__(self, value, /)
Return self<value

__mod__(self, value, /)
Return self%value

_mul__(self, value, /)
Return selfxvalue

__ne__(self, value, /)
Return self!=value.

__neg__(self, /)
-self

__pos__(self, /)
+self

__pow__(self, value, mod=None, /)
Return pow(self, value, mod).

__radd__(self, value, /)
Return value+self.

__rdivmod__(self, value, /)
Return divmod(value, self)

__rfloordiv__(self, value, /)
Return value//self.

_rlshift__(self, value, /)
Return value<<self.

__rmod__(self, value, /)
Return value%self.

_rmul__(self, value, /)
Return valuexself

__round__(...)
Rounding an Integral returns itself.

if self is suitable for use as an index into a list

Rounding with an ndigits argument also returns an integer.

rpow__(self, value, mod=None, /)
Return pow(value, self, mod).

_rrshift__(self, value, /)
Return value>>self.

__rshift__(self, value, /)
Return self>>value.

__rsub__(self, value, /)
Return value-self

__rtruediv__(self, value, /)
Return value/self.

__sizeof__(self, /)
Returns size in memory, in bytes

__sub__(self, value, /)
Return self-value

__truediv__(self, value, /)
Return self/value

__trunc__(...)

Truncating an Integral returns itself

bit_length(self, /)

Number of bits necessary to represent self in binary.

>>> bin(37)
"0b100101°
g>> (37).bit_length(



conjugate(...)
Returns self, the complex conjugate of any int

to_bytes(self, /, length, byteorder, *, signed=False)
Return an array of bytes representing an integer.

length
Length of bytes object to use. An OverflowError is raised if the
integer is not representable with the given number of bytes.

byteorder
The byte order used to represent the integer. If byteorder is 'big
the most significant byte is at the beginning of the byte array. If
byteorder is 'little', the most significant byte is at the end of the
byte array. To request the native byte order of the host system, use
“sys. byteorder’ as the byte order value.

signed
Determines whether two's complement is used to represent the integer.
!f signeg is False and a negative integer is given, an OverflowError
is raised.

Class methods inherited from int:

from_bytes (bytes, byteorder, *, signed=False) from builtins. type
Return the integer represented by the given array of bytes.

bytes
Holds the array of bytes to convert. The argument must either
support the buffer protocol or be an iterable object producing bytes.
Bytes and bytearray are examples of built-in objects that support the
buffer protocol.

byteorder
The byte order used to represent the integer. If byteorder is 'big
the most significant byte is at the beginning of the byte array. If
byteorder is 'little’, the most significant byte is at the end of the
byte array. To request the native byte order of the host system, use
“sys. byteorder’ as the byte order value.

signed
Indicates whether two's complement is used to represent the integer.

Data descriptors inherited from int:

denominator

the denominator of a rational number in lowest terms
imag o

the imaginary part of a complex number

numerator . .
the numerator of a rational number in lowest terms

real
the real part of a complex number
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bool (10)
True

bool (0. 0)
False

bool (-10)
True

bool ([1)
False
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help(dict)

Help on class dict in module builtins:

class dict(object)

dict() -> new empty dictionary

dict (mapping) -> new dictionary initialized from a mapping object’s
(key, value) pairs

dict(iterable) —> new dictionary initialized as if via:
for k, v in iterable:

dlk] = v

dict (x+xkwargs) —> new dictionary initialized with the name=value pairs

in the keyword argument list. For example: dict(one=1, two=2)

Methods defined here:

__contains__(self, key, /)
True if the dictionary has the specified key, else False.

__delitem__(self, key, /)
Delete self[key]

__eq__(self, value, /)
Return self==value.

__ge__(self, value, /)
Return self>=value.

__getattribute__ (self, name, /)
Return getattr (self, name)

__getitem__(...)
x. __getitem__(y) <==> x[y]

__gt__(self, value, /)
Return self>value

__init__(self, /, =*args, *xkwargs)
Initialize self. See help(type(self)) for accurate signature.

__iter__(self, /)
Implement iter (self).

__le__(self, value, /)
Return self<=value.

__len__(self, /)
Return len(self).

_It__(self, value, /)
Return self<value

__ne__(self, value, /)
Return self!=value.

__repr__(self, /)
Return repr (self).

__setitem__(self, key, value, /)
Set self[key] to value

__sizeof__(...)

D. __sizeof__() -> size of D in memory, in bytes
clear(...)

D.clear ) -> None. Remove all items from D.
copy (...)

D.copy () -> a shallow copy of D

get (self, key, default=None, /)
Return the value for key if key is in the dictionary, else default.

items(...)
D.items() -> a set—like object providing a view on D's items
keys (...)

D.keys() -> a set-like object providing a view on D's keys

pop(...)
D.pop(k[,d]) —> v, remove specified key and return the corresponding value.
[f key is not found, d is returned if given, otherwise KeyError is raised

popitem(...)
D.popitem() -> (k, v), remove and return some (key, value) pair as a
2-tuple; but raise KeyError if D is empty.

setdefault(self, key, default=None, /)
Insert key with a value of default if key is not in the dictionary.

Return the value for key if key is in the dictionary, else default.

update (...)



.update ([E, I**F) -> None. Update D from dict/iterab
f E is present and has a .keys() method, then does:
f E is present and lacks a .keys() method, then does:
n

D
{
In either case, this is followed by: for k in F: D[k]

values(...)

D.values() -> an object providing a view on D' s values

le E and F.

for k in E: D[k] = E[k]
for k,
= F[k]

Class methods defined here:

fromkeys (iterable, value=None, /) from builtins. type
Create a new dictionary with keys from iterable and values set to value.

Static methods defined here:

__new__ (xargs, *xkwargs) from builtins. type
Create and return a new object.

See help(type) for accurate signature.

Data and other attributes defined here:

__hash__ = None
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SESX4 ;. [2000, 2000, 2500, 2500, 2500, 4000, 4000, 4000, 4000, @E#BEHYFEAL., , EBIETHYEFEAL, , EBEHYFTEAL, ']
) [} =A

AT 14 MEROER

DSAEATZT O

AT OB A2E2—FE/I\—FvILICHBSNTND IR TOYDEik Z iR I DI UZIEETY,

B, RiTH. BERBEQREOREROMEIATZIONTT, ATZTOME T—FEEMEEVWDI2DDOFEERMFEZHBE L TLET,
H(C(E, BRI, RO, BEHREDT—FNHD. IE. FiE. FEU TWIRROEDORRIEDIEEHDET,
AT OMERTOTSZ2I TR, T—9Z2BHETFC, BEEXY Y REFUFET,

Fe. VSR BAL2DOATZT O MMERESNDETY, REOHARTIE, INTHAUYATOATZT I MHIe<SARDMNDFET., BDKDS
(Co INTRACA—D—EETIL (T2 IRA—Ib. RVIRE) *HDFT, FELFEUFHHOTY brSEESN. BUIZR—R hefE
A CWEY,

P ZEMODYUSRAEE
class E#:

pass
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class F&E#):
def __init__(self, EEFE%D) :
self. FEFES = EFEH
@property
def PERE# (self):
return self. FEREE
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print("A 7oz k7, '
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class E (FE¥):

def __init__(self, K7#, TPV, HBEOH, EFEH +*—Hh—):
self. _F7% = F7#

self. Ty =Ty
self. BHIRDE = EHDH
self. A—H— = A—Hh—

super (). __init__(EBEH) #5753 A0O__init__ (EEE)
#tself. _FEE SR = super (). EEFE K

@property

def F7# (self):
return self. K7%

@property

def TV (self):
return self. Toov

@property

def EHHDE (self):
return self. EiHD %k

@property

def A—Hh—(self):
return self. A —Hh—



def ¥F—4H 51 (self):

print(self. A—h—, self. F7%, self. T2, self. FERFEH#H,
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class NBOX(E)

self. _BHHDE)

def __init__(self, F78% T oo BHHOK EBEHR A —Hh— &, FonN—TL—F):

super (. __init__ (K78, Ty HHOH EFEHR A —Hh—)
self. & = @
self. +on—TJL—k = FoR"—=TL—+

#property
def get_color (self):
return self. &
#property
def get_nb(self):
return self. _FynN—TJL—F
#tset_color. setter
def set_color (self, f&):
self. &8 = @&
#tset_nb. setter
def set_nb(self, 2/ =T L—F):
self. FonN—TJL—F = Fon—=TL—F

def ¥—42 A (self):
super (). T—A2H A0
print(self. _f& self. _F>/IN—TL—F)

NBOX1 = NBOX (5, 658cc’, 4,4, HONDA', BB, &F500=00-01")
print("A 7Yz 7 FL X ”, NBOX1)

print("?j‘j‘)lb FPORBREZHNT D )
NBOX1. T—4 i H 0

AITzY b7 ELZR: <__main__. NBOX object at 0x7f8b9fadb410>
AITSH rOREEHNT B -
HONDA 5 658cc 4 4
B &3F500X00-01
vars (NBOX1)
T2’ "658cc
_RTHE S,
FrnR—=TL—=F" T EFSH00£00-01",
_A—7#—"" "HONDA",
R4,
B8,
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print ("NBOX1MDEEFE#:" NBOX1. EEFEHL, " F 7 %1 NBOX1. K7 %)
print( T2 NBOX1. TPy,

"EREFO T, NBOXT. EER D )

NBOX1ODEFES: 4 F7%k: 5
I 658cc HEFDE: 4

NBOXT. TP

"658cc’

NBOX2 = NBOX1

print("A 7S 7 KEL R ” NBOX2)
print("7l'7“/”17 FOBMEZEHEANT S ")
NBOX2. T—2 H A (0

T xH FF7KRKLR: < _main__.NBOX object at 0x7f8b9fadb410>
FIS1H rDBEEHRNT S

HONDA 5 658cc 4 4

B &3F500&00-01

NBOX2 is NBOX1

True

NBOX2 == NBOX1

True

from copy import deepcopy
NBOX3 = deepcopy (NBOX1)
NBOX3

<__main__.NBOX at Ox7f8b9faf1650>

print (id (NBOX1), id(NBOX3))


https://ja.wikipedia.org/wiki/%E3%83%9B%E3%83%B3%E3%83%80%E3%83%BBN-BOX

140237656142864 140237656233552

NBOX3 == NBOX1

False
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NBOX3. T—AHA(O # |MEDT —4

HONDA 5 658cc 4 4
B &=F500&00-01

BBEZITD,

NBOX3. set_color ( &)
NBOX3. set_nb (" &3F500=00-02")

print (” 71'7‘/17 FDOBEEEH DTS "

NBOX3. T—4 i #H 0

Tj/IOFwﬁﬁﬁﬁﬁTé
HONDA 5 658cc 4 4
HF BF500&00-02

NBOX1AT T h=HIBRT D :

de | NBOX1

vars (NBOX3)
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class 7 F3 R (E):
def __init__
super . __init__ (K78, T2y EHHOH EFH A —Hh—)
self. & = 6
self. FonN—TJL—bF = Fon=TL—F
self. & = &
@property

def get_color (self):
return self. _f&
@property
def get_nb(self):
return self. _+>nN—TL—F
@property
def get_nb(self):
return self. &

def ¥—4%2 A (self):
super ). T—42HH 0
print(self. _f&,

t1 = 7S R(Q2,NIE
print("A 7Yz F7RFLRAR 7 H)

print("Z 72z FOBMEENT B -
thLF—42HA0
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print "t1DEEFES:",

print( Ty t1.TooY,

TEHERDE Dt EROE)
tTOEFESH: 3 F7H: 2
IV B HHOH: 4
vars (t1)
ooy 78
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B a,

_EHEmOH 4,

_E&' 1.5t}

4,3, NISSAN', "&8" "

"

Tt EEH, P78t

self. _ #onN—TL—F)

&F500=00-03",

- F7ED

"1.5t7)

.7 b3 X object at 0x7f8b9faf1850>

EZERAFLLD,

E - HISADBE, B, FUoN—TL—rESOEUZEMT S

RHRTEEBREEDDRRWNTI M,

(self, F7H. TP HHDH EER A—hHh— & FoN—TL—F E&):

AT O~

EHFDOATDK


https://ja.wikipedia.org/wiki/%E6%97%A5%E7%94%A3%E3%83%BB%E3%82%A2%E3%83%88%E3%83%A9%E3%82%B9

RABEBEFESITNENWNTID
RATHEEBBEOM A ZRF DR T .

https://en.wikipedia.org/wiki/PAL-V

class FRITHE:
pass

P EEMA BERITHDI 5 A0 DMK
class RABEIE (F, RITHE)

pass

prototype0 = RABEE(, EXR' ,3, 1, PAL-V")
type (prototype0)

__main__. RABHE
prototyped. T—42 H A ()
PAL-V 1 XK 13

vars (prototype0)

[_zooy  "BR, "_F7H 1, "_A—H—"1 "PAL-V",

"EEREE 1,

_EmOH 3}
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